2.0.0 -1940 2.0.0-1940

Runtime (in hr) 3.01 NA

Avg. Drain Rate 599.11 NANA
Peak Disk (GB) 69.87 NA
Peak Memory (GB) 12.12 NA

Avg. OPS 8.79K NANA
Avg. mem memcached (GB) 11.37 NA
Avg. mem beam.smp (MB) 720.22 NA
Avg. CPU rate (%) 68.83 NA
Latency—get (90th) (ms) 0.46 NA
Latency-get (95th) (ms) 0.81 NA
Latency—get (99th) (ms) 2.43 NA
Latency—set (90th) (ms) NA NA
Latency—-set (95th) (ms) NA NA
Latency—set (99th) (ms) NA NA
Latency—query (80th) (ms) 67.5 NA
Latency-query (90th) (ms) 154.73 NA
Latency-query (95th) (ms) 486.24 NA
Latency—query (99th) (ms) 1854.35 NA
Latency—query (99.9th) (ms) 2674.66 NA
Avg. QPS 302.96 NA
Avg. XDC ops/sec 908.71 NA
Avg. XDC docs to replicate NaN NA
Rebalance Time (sec) 0 NA
Testrunner Version 0Oc43aab NA
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xperf-read—1-uni-views.conf

# XPERF test with views:

# 8K ops/sec (background, cluster-wide)
# READ ONLY

# 16 clients per cluster

# 10M dataset

# 3 ddocs with [2-2-4] views

# unidirectional

# 1 bucket

# stop after 3 hours

performance.iperf.XVPerfTests.test_vperf_3d_unidir
params:

# general
batch=50
kind=json
mem_quota=16000

# xdcr
xdcr_num_buckets=1

# load phase
items=10000000
hot_init_items=2000000
wait_for_xdc_replication=1

# access phase
ratio_sets=0.0
ratio_misses=0.025
ratio_creates=0.0
ratio_deletes=0.0
ratio_hot=0.2
ratio_hot_gets=0.95
ratio_hot_sets=0.95
ratio_expirations=0.0
bg_max_ops_per_sec=500
fg_max_ops=8000000000
total_clients=16
time=10800

# control (defaults: pytests/performance/perf_defaults.py)
load_wait_until_drained=1

loop_wait_until_drained=0

mcsoda_heartbeat=3

tear_down=1

tear_down_proxy=1

tear_down_bucket=0

tear_down_cluster=1

tear_down_on_setup=0






